COLOR SPAN IP67
800mm SILVER
RGBA, WIDE LENS

1k

: £

o=

18 2

15

17

7
T 16
\
|
N
ve: |
S
9
18 SCREW M6x12 SHCS SS 900-0058 | 2
17 FEET SUPPORT SILVER 612—-0007 | 2
16 WASHER FLAT M6 SS 900-0201 | 2
15 SET SCREW M4x12 CUP POINT HS SS 900-0063 | 4
14 ROD SUPPORT SILVER 613—-0038 | 2
12 SCREW SELF TAP FH PLPS SS ST2.9x13 900—0059 |26
11 |ACRYLIC TOP CUT AND MACHINED 32" 613—0031 |1
10 BILICONE ORING 67°LG(21.2”ID) 613—-0041 | 1
9 SCREW SELF TAP SS PH PLPS SS ST2.9x9.5 | 900—0054 (12
8 ASHER LOCK M3 SS 900-0216 |12
7 PCB COMPLETE RGBA, WIDE LENS 612—-0201 | 2
6 STRAIN RELIEF LIQUID TIGHT M16x1.5 900-5186 | 1
5 P-RING FOR M16x1.5 STRAIN RELIEF 900-5188 | 1
4 SCREW SELF TAP FH PLPS SS ST4.2x19 900-0060 | 8
3 PLATE END PLAIN SILVER 613—0034 |1
2 PLATE END GLAND SILVER 613—0035 | 1
1 EXTRUSION IP67 32" SILVER 613—0011 1
ITEM DESCRIPTION PART# [QTY
Parts List




